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Matching Activity Handout #1 
 

Side-by-Side Comparison of Displays 

  
Dot Plot 

 
Box Plot 

 
Histogram 

Characteristics    
 
 
 
 
 

Data Shown    
 
 
 
 
 

Measures of 
Center 

 
 
 
 
 
 

  

Measures of 
Variability 

 
 
 
 
 
 

  

Other Measures  
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Matching Activity Handout #2 (Cut Outs) 
(Note:  There are 3 more cut outs than needed.) 

 
Only measures of 
variability able to find 
are range and 
interquartile range (not 
mean absolute 
deviation). 

Lists all of the 
individual data. 

 

Also able to find  
minimum, 1st  quartile, 
3rd  quartile, maximum, 
and presence of 
outliers. 
 

Lists all of the 
individual data. 

 

Measures of variability 
cannot be found. 

 

Only measure of center 
able to find is median 
(not mean). 
 
 
 

Able to find measures 
of center (mean and 
median). 

 

Does not show 
individual data. 

No measure of center 
can be found. 
 
 
 
 

Displays each set of 
data as a dot or an x 
over a number line.
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Matching Activity Key 
 

Side-by-
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Given only the three displays from You Try 1, answer the following using complete sentences. 

 

1) What is the mean and mean absolute deviation of the data? 

 

 

 

2) What is the interquartile range? 

 

 

 

3) Do these displays clearly skew left, skew right, or show symmetry?  If any are different 

explaining their differences. 

 

 

 

 

4) What conclu
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Sample Answers to the Sample Data only!  Students’ answers will vary based on their data. 

 

Given only the three displays from You Try 1, answer the following using complete sentences. 

 

1) What is the mean and mean absolute deviation of the data? 

The mean is 3
1

3
 and the mean absolute deviation is 1

5

9
. 

 

2) What is the interquartile range? 

The interquartile range is 3. 

 

3) Do these displays clearly skew left, skew right, or show symmetry?  If any are different 

explaining their differences. 

      The displays seem ever so slightly skewed left.  One might argue that they are mildly    

      symmetric. 

 

4) What conclusions can be drawn because of the length of the whiskers on the box plot? 

      Both whiskers seem to be about the same size which show that the data is evenly spread     

      on each side of the interquartile range. 

 

5) What conclusions can be drawn because of the location of the median on the box plot?  

           The median is not located in the middle of the box, it is slightly left of center.   Therefore   

           the data does not seem symmetric. 

 

6) Does this seem like a large enough sample size to make reliable conclusions about the 

distribution of numbers rolled using one die? 

      The data seems to be close to what one would expect.  However, it would be a more  

      accurate and reliable representation if the die was rolled more times. 

 

7) 
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Activity/Lesson continued: 
 
Example 2: (Grade 7 lesson) 
Twelve students in Ms. Jackson’s third period 6th grade math class were chosen at random and 
their heights were measured in inches.  Their heights were measured as: 
 

59, 65, 60, 64, 67, 58, 59, 63, 62, 64, 59, and 58 
 
Randomly choose twelve students in your class and record their heights in inches. 
 

Sample Results from 8th grade class:    58, 63, 68, 66, 59, 67, 62, 63, 60, 72, 60, and 63 
 

 
Create a double box plot for the two sets of data below: 
 

Sample Double Box Plot 
 
 
 
 
 
 
 
 
 
 
 

1) What is the difference between the medians of the two data sets? 

 

 

2) What is the difference between the ranges of the two sets of data? 

 

 

3) What is the difference between the interquartile ranges of the two sets of data? 

 

 

4) Describe how the data is skewed or symmetric for each sample. 

 

 

5) What conclusions can be made about the heights of 6
th

 graders versus 8
th
 graders based on 

these box plots?
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You Try 2: 
Roll one die 15 times and record your results.  This will be the first set of data.   
Then roll one die another 15 times and record your results.  This will be your second set of data. 
 
Sample Data 

First set of data:  1 , 1, 2, 2, 2, 2, 2, 2, 3, 3, 3, 3, 4, 4, and 4. 
 

Second set of data:  1, 1, 1, 2, 2, 3, 3, 3, 4, 4, 5, 5, 6, 6, and 6. 
 

Create a double dot plot for the two sets of data below: 
 

Sample Double Dot Plot 

Numbers Rolled on a Die 
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You Try 3: 
 
Roll two dice 15 times and record your results.  This will be the first set of data.   
Then roll two dice another 15 times and record your results.  This will be your second set of data. 
 
Sample Data 

First set of data:  2, 4, 5, 5, 6, 6, 7, 7, 7, 8, 9, 9, 10, 10, and 12. 
 

Second set of data:  4, 4, 5, 5, 6, 6, 7, 7, 7, 8, 8, 9, 9, 11, and 12. 
 

Create two histograms side-by-side for the two sets of data below: 
 

Sample Histograms 
1st Data Set 
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Sample Answers to the Sample Data only!  Students’ answers will vary based on their data. 

 

1) Compare the skew or symmetry of the two histograms. 

Based on the histograms, the data seems mildly symmetric.  Possibly slightly skewed right.  

However the intervals are misleading because it isn’t possible to roll a 1 with two dice. 

 

2) What conclusions can be made about the 1
st
 15 rolls versus the 2

nd
 15 rolls based on these 

histograms? 

Based on the histo
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More Specific Information Presented Side-by-Side for each Display 

 

Dot Plot 
 

Displays each set of data as a 

dot or an x over a number line. 

 

Box Plot 
 
Summarizes data over a 

number line, showing 

distribution and spread. 

 

Separates data into four parts.  

Even though they may differ 

in length, each part or quartile 

is 25% of the data.   

 

The box shows the middle 

50% of the data, the 

interquartile range. 

 

The median does not always 

split the box in half because 

the data may be clustered 

toward one of the quartiles.   

 

Short whiskers indicate 

concentrated data in the first 

or fourth quartiles. 

 

Long whiskers indicate that 
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Assessment: 
 

Grade 6: 
 

The cost in dollars of a cheeseburger at 8 different restaurants is displayed on a dot plot 

below.   

Dot Plot 

Cost of a Cheeseburger 

          

    ● ●     

  ● ● ● ● ● ●   

3 4 5 6 7 8 9 10 11 12 

 

Based on the dot plot above, indicate whether the following are True or False. 

1) The median is 7.5.                                                           ⒶTrue   ⒷFalse 

2) The range is 9.                                                                   ⒶTrue   ⒷFalse 

3) The interquartile range is 2.                                           ⒶTrue   ⒷFalse 

4) The mean absolute deviation is 1.5.                             ⒶTrue   ⒷFalse 

5) The 1st quartile is 6.5.                                                       ⒶTrue  ⒷFalse 

 
 

Answer Key to Warm Up Above 

 

1) The median is 7.5. 

   Ⓐ 
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Assessment: 
 

Grade 7: 

Assessment Results in a Double Box Plot 

Scores from One Class or One Class’ First Assessment 
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Warm-Up Answer Key 
6.SP.5 

Given the box plot below, indicate which      

of the following are True or False: 

6.SP.5c 

Numbers Rolled on a Die 

           Heights of 6th Graders in Inches 

● ●  ●   ●   ● 

          

58 59 60 
61 62 63 64 65 
66 67 

 

1) The median is 61.5.          ⒶTrue   ⒷFalse 

2) The range is 5.                               ⒶTrue   ⒷFalse 

3) The interquartile range is 9.       ⒶTrue   ⒷFalse 

4) The 3rd quartile is 61.                   ⒶTrue   ⒷFalse 

5) 50% are between 59                    ⒶTrue  


